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3. ) A satellite revolves around the earth in a circular orbit at an altitude of 300 km.
Assume that the radius of the earth is 6400 km and the gravity on the earth
surface is 9.8 m/s*. Determine the orbital speed of the satellite and the period
for one revolution. (25%)

4.) As shown in the following figure ([ =), let the mass and the velocity of a
solid rocket at time ¢ be m and V, respectively. Assume the eject speed of

exhaust gas to be V,. Use the conservation of momentum to determine the
thrust force F. (25%)
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